EARAROBEEIERT — 2 N— IBISH —F

20165118148 (A) 6mEKIR3A

PN C 2o =4 45%— ECEE R
[A&4£] 1 7% :100,000  ~ 23#&:20,000”  33%&:10,000 M  43#&:7,000H ~ 53 :3,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. TIPS :29. -1-1- . — 2ILE— (KR)
1 2 Fr)—-EvHh— "3 56.0 1(2_9)0 ) 386 1 (3?12) B F—BR
L:hTrAVLRZ BNSEAIETIL =RBAKS
o B . FHER :30. —-3-2- . — #EE (KR)
2 6| T TRLNAY — it 3 5 1(370)2 3-32-2 | 39.5 2 (4_232) Bl
ATANRA Y — BTz ANEN—Y NS
. 45 | WABER 1:30.5 6-4-4-4 | 39.6| — 5 440 | EREIER (BERE)
3 4| T7RFTvh— 56.0 (1 1/2) (+2) | BEER
RixvyUgdyEk BiATZ%21—X AREG2—T7—L
o 5K : ~7-6- — FEA= (BE)
alzlg | ton—trvaq it 6 K (12.310/.29) 5-7-6-5 | 39.7 6 (4_415) mﬁagy—
w1277 B:RTF15T A HE
N N s= s BERRE :31. 02— . — 1R (OR)
5/7/7/E-E=-7ZL7X " 5.0 1(311)1 N ’ (i??) BB
RE—E—HILEL B:vO7zxv>R B Rk
g 53 4t 3 | BEIE 1:31.3 8-8-7-7 [39.6| — 4 439 | ERAE (KiR)
EH 3| HRIAH3 54.0 (1) (47) | HEIES
g/ vT714 BiRU—SFA4 42230 L1 T14277—14
R KR . 5 5 — HHEF (KR)
7lglo| *T¥avr/nNr s 54.0 1('33/]4>4 556404 8 ?_017) AFN
L:FaT8) BiouasLyhy—Y Rk Rk e ]
< . s — > st 132, -10-10- . - SHARERE (AKR)
gl1l1|3v7Eva=7— > 8| Bl 1(342)0 10-10-10-10| 39.4 9 (433 s s
RIYTEPALLR BiFIHLIUR pmbie]
N N . - OB :32. -9-9~ . — RIREF (KiR)
ol5l5| PR PYEIFS it 5 s 1(13/22; 9-9-9-8 |39.8 7 <4+563; PN
L:on7x B:FTFULTTr—X INHINH T 7 — L
2 S i 3 | BRRE 1:33.3 7-6-8-9 | 41.8| — 10 | 410 | IEfF (E&HE)
10l8/10| F1T7F¥a> 54.0 @) (1) | RAEE—
Rixq4vayR—5— B:3A RKU—<— 1|45
® 1—F—@EBIERL
1T=7r= 2,7,6,9,8,4,10,3,5,1
23— — 2,7,6,4,9,10,8,3,5,1
Ja=5= 2,(6,7),4,9,8,3,10,5,1
43—+ — 2,6,7,4,8,9,3,5,10,1
[ N5
B 2 1004 714K 2-6 200M e E 2-6 310 JEE 2-4-6 1,660
B B 2 1004 2-4 430 B = 2-6 340M JEE 2-6-4 2,990
6 140 4-6 1,610H B H 2-6 340M
4 1809

ABICOVWTRDTEEERROODE. TR LIV,




